Her =% =4 75 RO AL C MO HFE AmAEi(

0§0<2M>t &, RO FREXEMT, 0§0<2x®&%, WO XA RS, 0§0<2n0>2:—3, WO R EfRET
ing —3 -1 _ ; T\ _ 3 my__1 1 '(20 i)—L 2t <zo_£>—_ 3
W) sing = @) cost = 3 tanf=1 1) sm<0—3>_— : @ cos<0+6>—ﬁ W) sin(20+)=— 2 tan T)=-v3
(4) 2sinf=—1 (5) 2cosf =+/3 6) /3tand —1=0 " tan<0+i>=L n COS<0_£>:_1 ) COS@_%):% ) Sin<20+%>:L
: J3 1 43 6 V2
(7) smﬁ:—T 8) cosl =—— 9 tanf=-1 z 1 x
vz ) sin<a_£>:l ©) cos<o+£>:£ 5) sin(30+5 ) =—= 6 tan(20-%)=V3
(10) sin0:% a1 cosﬁ:—% ] 21 ! %
@ sin<0+i>:—— @® cos<0+i>=—
1 2 3 2 7 (1) =" er érr i7r 2) 6=0 Z oz i7'r
- = Y240 2™ U™ 24 =0 ™
_ 5 19 11 23 7 . T 1. 2 31
W o=7. %x @ 0=7. %x 3 o=1. 5. #E () 0=0, g0 2) O=v5, o7 @ =157, ;57 () O=%n ® 0=0 7. m g7 W =55 5™ %™ %"
1 1 _T 1 _19_ 23 _u_19 _3_ 1 5 6=0, & 2 5. 4. 3 ==, 5. 4. 1
(4) 0:%71, ?x (5) 0:%, Tﬂ (6) 0:%’ %x (5) 0—2, 67r (6) 0—127r, 127r (7) 0—127r, 1271 (8) 0_271, 67r ®) 0 5 37f 67f 37f 27f (6) 3 6” 3” 6”
45 x 7 3 7
(7) 0—§7Z', gﬂ' (8) 0—z, Z?T (9) 0—171‘, Zﬂ'
x 3 2 4
(10) 0—7, Zﬂ' (11) 0—§7Z', gﬂ'




